ETRIAOZR (SFEAN)

SH2F11A 1BRAE

BT £ 3 it BT £ 5 3 it
B ZEET 0 0 0 |= R HT 5 10 15
KIZHT 173 168 341 |HxHET 20 26 46
a5 ET 3 2 5 |[ABHT 3 6 9
= AT 252 265 517 |3 LLIET 12 18 30
=AdaE 79 93 172 |77 SHT 10 10 20
S EHHET 6 4 10 (/%2 [ ET 8 4 12
2 ] BT 65 69 134 (FEHET 14 18 32
FFHET 0 0 0 |5<ET 20 25 45
JK AT BT 34 45 79 |fH/RET 0 0 0
;A EHHET 4 13 17 (P& HT 217 257 474
YR A< BT 0 0 0 ||Fa B /T 0 1 1
4/ SERET 10 17 27 (5 RET 128 119 247
FF+EET 12 11 23 ||FE SHT 84 72 156
HH R HET 2 3 5 AT 0 0 0
SE ARET 11 12 23 |— & HT 5 4 9
Y& A BT 6 6 12 || FHT 46 47 93
HHHET 4 2 6 ||z [RHET 145 254 399
J\E EHT 7 25 32 |G HHET 33 35 68
FREAET 13 18 31
AHT 16 12 28
L AHT 0 1 1
b LR HT 3 10 13
JCHT 12 12 24
FHT 4 10 14
{ENSEET 27 26 53| & E 1,493 1,730 3,223




